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UNIT 1 Rebi

Write thi'ee number sentences that fit each p'attérn.

~a : B c d
L= ne= 10 x+ty=y+x 2x=x+'x“ i .a =,bg
List three numbers that belong to each of the following sets.
a M P sy o c d
2. whole numbers natural numbers integers | rational numbers

Find the absolute value 'of each number.’

el a b _ c d
- i il i L ! la6l = ‘ l68| = l |—112] =
Write the numbers in order from least to greatest.
a b . ‘ c d
4. 8,0, 74 . 1 T8, 20 ' 04T l 72,059, 16
‘Simplify.
| a ' b &
5.24 - (9'To) X4 | I 12X3+-@8+4 -3 l 50 + (36 + 9 + 22)
Write an algebraic expfession for each verbal expression.
iRl et : b
6. 9 more thand - | ' x decreased by 10
7. the product of 9and k- ik r divided by 2
Evaluate each expression. ' )
a b & d
8. 5+2)x12 90 12 L1 20 - 3¢4) 16+ 47
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UNIT 1 Review

Evaluate each expression if a =6, b = 10, and ¢ = 3. ‘ -
a b c ” ‘ d

] _ Te =1
9.a+b | ab : (c+2)b BEETT
Solve. : : ‘ £
a : b oo c ' - . d
1 10.1®=w a=5(15+3) f=4®+300) | HFEP=b
Solution Sdlution i DRI il A‘Solﬁtibn 7 Solﬁtién
11. 8k = 40 | x+28=79 .| 19+m=100 4x =10
- Solution ' Solution Solution"— Solution
éolve ' ‘ s ke
12 Usmg the formula A = lw, find [ when A | 13. Using the formula C=md, find C when d
is 48 square feet and w is 8 feet. | . is 14 yards. ‘

Answer LN Answer

14. Using the formula V = lwh, find Vwhen | 15. Using the formula V = #r?h, find V when

lis 15 meters, w is 12 meters, and h is ris 3 centimeters and A is 10 centimeters.
10 meters. ' : '
Answer y ' | Answer

16 Using the formula /'= prt, find Iwhen p is | 17. Use the formula C = (F — 32) - g to fmd B
$500, ris 4l%, and tis 2 years. when F is 113°.
Answer | _ Answer

Unit 1 Expressions and Formulas , : , -




UHT rd Revieww

. Write the opposiie of each integer.

a b c d
1. 8 \ -13 ] 75
Add, subtract, multiply, or divide. :
o [ £E ' b . c d
2. =10+ (720) = 13+8= —95 4+ 42 = T () =
3. 20— 17 = 11-23=" —5—(73) = —9_2=
4.8(°6)= CH(22) = 5 = 83 -
Simplify.
5. 8k + k= 12m — 3m = 7ab — 10ab = 10n + (3n) =

e

6.5y +2z—y=

a
1L k+7-QkR+5)=

—7(-26s6) =

9.9(r—3)= w(4 + 6m) =
Uil oD oo 1 —30
10. T e . _6”

Simplif);‘the folldwirig expressions.

C 312+ 20) =

T2b+4c+3b= | “t+2t-8t=

T e
5k — (T8jk) + k=
_/

(T5R)(24Y) =

r+2-36-20)=

42b +
. 7

2(3a + 5b) + 3(5a — 3b) = |

-
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“ g jUHiT 2 Cumulative Revi‘ew ‘

Find the absolute value of each number. :
a b Gl ' ¢ d

1 |*16|= l |4.6] = | ’ |22 = ’ |15[:

Write an algebraic expression for each verbal expression.

v a ; ‘: ) b 1
3 1 2. n increased by 10 ' | : ’ 7dividedbyw _-
, i Evaluate each expression if x =9, y = 1, émd z=5. : e an S I,
‘ a b B4 ¢ - : i d
; 3. xyz = ALY = ’ 3z+xy= ) 9y — x =
Solve. : |
a : b : . ¢ ; d
4.8+2r=26 I sy=3-1 ’ 9x = 90 1'22_3,).:—50
Simplify. - : ,
5.("2)(T13) = | Chan= §__‘é = | —_1go X
6. 2a + 7a + 5a = 5x—~7x+4y= "' | 4b—(79b) = | T16rs + 12rs + 4rs =
7. 3(15a) = _-_3%= . I-T&.%: 1‘?'%‘=
8. 4(7a + 10) = 2(10m — 4n) = =N  Tam 30

] Solve.

- 9. In the formula V= lwh, find V when [ is 10. In the formula D = rt, find. t when D is

10 feet, w is 6 feet, and h is 2 feet. ‘ 240 miles and r is 80 miles per hour.

Answer _ ' Answer

‘,' A

Unit 2 Integers and Monomials . ‘ 63




UNIT 3 Review

i Solve. Check. S ‘ ‘
b : ) c

w a

Lat+(T25) =17 x—37=94 r+(C12)=3

‘«;f"ji!

l‘%"? “

| 2. 5x =45 “15y=105 25x = 10

W

i

i 3.%=4 =6 5x — 2x =9

i 4.5 +6x=1 " 4r—3=3 ot A s B4 i+ 8

b 5.3m+1=6m—5 Bx_7 4% S 10-%-
6-%=% 5y —2(y+2)=5" 6y—4=2(2y+1)

e e R L

Solve. !

7. Together Leslle and Lakita have $15 25, 8 Marcos is 7 years older than his 31ster
‘Lakita has $0. 25 more than Leslie. How Rosa. The sum of their ages is 1 less than

much does each have? 3 times Rosa’s age. How old is each?

Answer

Answer
Unit 3 Solving Equations.
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UNIT 3 Cumulative Rev\iew

A simpiify. | .
4 2 b ‘ ¢
LD = 578+9)= - 452 -
2. "3a+4(a+2)= 7("3a) + 6("a) = 3(a + 3b) — (a + 2b) =
Solve. Check. '
a b : c
3.7r+17=20 §+7="2 x—10=35
— Y __ = 2a. _
; 4. 5x =90 | . 5" 8 : _SQ =4
5. 8x + 5 = 5x — 10 8a~6a+3=7 W yg-x4v
6.%2=-2 x=-1 3(x + 2) = 2(x + 5)

S M0 T S op
i 77

Solve.

7. In the formula V = [wh, find [ when | 8. Inthe formula I = prt, find p when
h=4in,w=7in., and V= 252 cu in. - I=1$20,r=5%, and t = 1 year.
Answer ' . Answer

9. Twice a number decreased by 8 is equal 10. The sum.of two consecutive numbers is
to the number increased by 10. Find 95. What are the numbers?
the number.
Answer : Answer

|
[ 1
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UNIT 4 Review

b ‘ : _ - c
1. 52= , (9= , , ‘ (C10)*- 3=
Change each number from scientific notation to standard form.
a ' b c
2. 1.8 X 10" = ‘ 2.7 X105 = ‘ : l 345 X107 =
Simplify.
a L c
3. (cd®)(c?) = (Toxy)(Bx%y) = (xy’z')y’ =
m® ~8a’b’c . ’ ; ‘
4, —= —_— = - =
e T2ab?c xy —x) + (O5xy + 3x)
5 ‘f*bf4)—(b+2)= “(15m2+6m3)—(;5m)= dab b
. 6a 2ab
Q.2 2 — _
6. 3xty . 2h 1‘2x3+4x‘=’ Xi—Xx 4
z . 3 5 X
] 4 __ 24 :
'l 10xy + 4z _ 164’ }120 da _ x(x — y) =
a

8. ~2y(~2x*+y+3) =

(3a + 4b)(a — 615) =

@+ b*+ 3)(ab—-b) =

Divide.
a

9. ‘
x+1F—x-2

b

X+ 2y)x* + 4xy + 4y?

2x — 3y)dx? — 12xy + 9y?

Find the common monomial factor. Diﬁde to find another factor. Then write the
polynomial as the product of the monomial and a polynomial.

a

10. 12az — 8bz + 16¢cz =

b

9fy + 15gy — 27y =

110

Unit 4 Exponents and Pol_ynomials




UNIT 4 Cumulative Review

 Solve.

L lnit A Bunanandes and Dalimmanaiale

a | \ b v - ‘G
1.y —35="100 7+ 37 =2k ' —11-3r= "2
2.5(a+3)=25 “Tb—10b="18 3(n—2)=-n—-10
, X! g - 2s o
3.5x.:= 135 , X-2 | 4S5 _ 16 -
i 438 R
Simplify. :
v a _ b | "
4.2(4+3)—6(0) = ~16 — (734 = | —6(—4)(—8) =
5. ;25 = ; . |~;15 l = | (;— 1)99(—2)4 =
6. (da0)? = | 3a@b+ )= 12518 _
(i i ' —25s®
%
7 a,3a 1_ —15a'b%¢® _ 3a . 9a* _
"4 4 2 | T3abc T 4 16 o
dab® | 12a°b? 106 6(a + b)
8. e = n o — " + = =
3 a ‘ @+ b 202 ‘ (4a + 2b)(3a — b + b?»
—-9a° 3x* _ T 24x%y — 20y*z° + 10y ;
> % a ' B 2y _. 5x—6)5x2+9x—18é

LU G S R

Solve. |

10. The sum of three consecutive numbers. " | 11. Find the circumference of a circle if the
is 279. Find the numbers. = = diameter is 24-feet. (C = 7d)
Answer . — Answer



